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College Algebra — Joysheet 10 Name:
MAT 140, Fall 2012 — D. Ivansic¢ Show all your work!

1. (5pts) If log, 4 = 0.489301 and log, 5 = 0.568061, find (show how you obtained your
numbers):
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2. (1lpts) Write as a sum and/or difference of logarithms. Express powers as factors.
Simplify if possible.
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3. (12pts) Write as a single logarithm. Simpiiﬁ' if pu&%ible

: PLL SR
l;]ﬂ'[udl 2+ 1 1n(625y7) — nl[.'La} = f ? T )24 X ) =i~
7 7 L g A,
— ': . ' "-'l: \ 1 _r"'|_,__I l ",': 'I / .__q.r.l J:l-',
L {'ZL' {: X“" I" = .f. / | = "‘f"'* |/ IT A {T fae /l | !__E:‘ |
= == T \ 113
X / >
g i 1 "; - | 4 iy j
2log, (1 +6) — 4log, (2 —36) — Bloga(x —6) = [o (Yt )= Loo, (K200 = Log, [4)
e ".:ll_" b o % -;, -
K646 )
T = O : ) 2
LHE) . ),
= ({_--."ﬁ ,__Il_ 5 - . _J:P:_” — =~ —dog, (KT6) x-£)
L & = { - T 1 Y gt 4]
"k T rf\‘_[rl Iyl L Iy



Solve the equations.
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7. (12pts) The 2000 and 2010 censuses recorded Murray as having 14.950 and 17.741 people,
respectively. Assume Murray's population grows exponentially.
a) Write the function describing the number P(t) of people t vears after 2000. Then find the
exponential growth rate of Murray’s population.
b} Graph the function.
¢) According to this model, when will the population reach 20,0007
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